- ®

LT

-
Hanshang Hydraulic

DWHG32ZY 8 i # [0 7]

DWHG32 SERIES SOLENOID
PILOT OPERATED
DIRECTIONAL VALVES

DWHG32 Y F if # [5) 1) /2 F B W36 (o] R 0 S SR il 07 i) =X DWHG32 series are solenoid pilot operated spool type valves . This series
¥eEiE, FFES R AR A E, are used to control the start ,stop and direction of flow.

C ¥ ARSE Technical data

i#1& Size 32
&5 L1EEA P.A.B(MPa) Max operating pressure P.A.B(MPa) 35
=458 SMEE Externally drained 25

T O (MPa)T Port (MPa) 353 (AC)-10

#2403 ) HE Internally drained
Hift (DC)-16

%t (AC)-10

Y O (MPa)Y Port (MPa) =M 4MHE Externally drained
Hi% (DC)-16

o
=
®
2.
o
>
ol
0
o
>
—
=
=
>
<
®
(2

B/MEHIES (MPa) Min. Pilot pressure(MPa) 0.45-1
B XiRE (L/min)Max. flow rate(L/min) 1100
B (T3 ) Weight(KGS) 38.5

B (#) REALE

: L 4b 38 ti hosphati rf
Valve body ( Material ) Surface treatment it FPBEHLARE casting phosphiating|surface

NAS1638 9 70 1SO4406 20/18/15 4

R /Oilcleanli
AL /Oicleanliness NAS1638 class 9 and ISO4406 class 20/18/15

C #iEihigk: 4DWHGS2... B (#ZEERHLP46 , Om=40 T + 5 CHlG)
Characteristic curves : Type 4DWHG32... ( measured with HLP46 , Voil=40 C+ 5 C)

Ap-qEREHZ - HEEFFS E.RW Ap-qfEBErZE - HlEERS G, T
Characteristic curves—Spool E,R,W s Characteristic curves—Spool G, T
16 7 / 16 o /
14 B- / 14 / /
= A/ 5 /
c BT 2 v I/ IS p-|T
T g 10 A A T g 10 » /
~E / ~E 4 )
e Al 1 e P-lA ///,/
~ 3 ~ 3 A-[T
« 2, / L~ /{ e 2 N A 4
TR L 4~ | ea e 4~ | r-B
li-l\ Q 2 ] o 1o li-l\ Q 2
= P15 =
0 0
0 120 200 360 480 600 720 840 960 1080 0 120 200 360 480 600 720 840 960 1080
& Flowin ( L/min )— & Flowin ( L/min )—>

www.nshpv.com




Industrial hydraulic valve | T il i & i@

Ap-q/lEREfZ - FTEEERS
Characteristic curves—All spool type

16 //
E 14
. //
T:“z’ 10 /
5o s
o
27 VAEREn e
LI A~
2 ,//
0 —

0 120 200 360 480 600 720 840 960 1080
#E Flowin ( L/min )—>

2zog enbojeien

© #LEEFFS Spool symbols

1) (XA THLEERS R
2) TRTHEERS R

1) Only applicable for spool R
2) Not applicable for spool R

WHG A B
_’_Ebli*- ./
P T
A B
_’_Eb —<4- .H/
P T
DWHG A B
oslo [0 Papn 7
P T
A B
zzE:]b o
P T
B
zﬂzz& wHe/0
P T
B
’|’ alb oeffees JOF

XHEA X
EEE TG

M.—.
[X]DM

Ningbo Hanshang Hydraulic Co.,Ltd.

RN
|

P
A B
7l [0 nizm
P
A B
ZHZZI\‘A/
P
A B
Mool
PTT

LA

il

" XNH

iatim

AN 4

IR

i

g

=



Hanshang Hydraulic

C =HIBANHESIMER NHESSMEERIEER Pilot fluid supply

4DWHG32 #!

1. AHEIMERESR: BERMEPALAH M6
HEET 13 EAUOMEE , IR T A ML,

2. WHESSMERER: BERTETAL R M6
B24T 2 3E EASMEE, IR AWHE

EERET: AMEATUERR L X QEE,
MHERT LA R £ Y O,

DWHG32 BV HELE 1 E
DWHG32 explanation partial drawing

4DWHG32

1. Internal pilot and external pilot:

Installing the M6 screw 1 in the "P"port on the
top of main valve is external pilot; removing
the M6 screw 1 is internal pilot.

2. Internal drain and external drain:
Removing the M6 screw 2 in the"T"port on the
top of main valve is external drain; installing
the M6 screw 2 is internal drain.

NOTE : 1.The "X" port on the base plate must
be plugged if internal pilot.

2.The "Y" port on the base plate must
be plugged if internal drain.

www.nshpv.com




O
)
—
)
o
Q
=
®
N
(=
N
N

23

Industrial hydraulic valve | T il & & i@

(C 4DWHG32 4pEI R~ 4DWHG32 Overall Dimensions

=l H E
— 2
I A B
| T T
\ \ \ \
=x) ‘ \ ‘ \ \ ‘ \
[ | N N
} | | | | | |
364
190.5
21.5 76 6-022 %
\S x £é
Vs N —///f’f\\\p AN
|
i I V) .
T T 4"]*“*%’% //$\ Y
\ /] L TN
! AN / N *Siﬁ
ﬂ o cOsE| |
i —lowmo] i
iR
X 1o (O NN S N
/0 AH | H
| \ 7 7
NNPZANN N
Ve R
76. 5 114.5
2 E E #R 5T Valve's set screw
6 4~ M20X80 GB/T 70.1-2000 12.9 4 $:4%4746 6 of M20x80 GB/T 70.1-2000 12.9 Tightening torque Ma=430Nm.
Ma=430Nm O-ring for P.T.A.B Port: ¢ 42 x 3

AB.P.THOEE: o 42X3
X.Y 00 ZfE: © 19X3

O-ring for X.Y Port: ¢ 19 x 3

Ningbo Hanshang Hydraulic Co.,Ltd.




C EMRZE%# R Installation dimensions

- ®

AT

-
Hanshang Hydraulic

ADWHG32
233.5
190. 5
168. 5
147.5
114. 5
215" 82.5
o 576 6-M20/35
o 61 o
‘ ¢}L ¥p v
| T ¢7I
INCRRAES
"0 s 10 | B

28.5

79.3
<
.

\
é}w
35
114.5
124

4DWHG32 | E |60 * [Do24| N[ * 7 [z5L] + | + | =

| * ]

BE 32
Size 32

LR LS
See the function symbol
of spool valve

%% 60=16-32 @ {2
Series 60=Size 16-32

T =BESM

O= SRS E

OF= SR EMME, wE:R

No code=With spring return
O=Without spring return

OF=Without spring return,with detent

FJE Voltage
DC12;DC24 ;AC110;AC220

N= BiffEie Tz

N=With concealed manual override

Tt = SMESMNHERIE= RESMHERY

ET= WA MHEER T= SME R HER

No code=Externally pilot, externally drained
E=Internally pilot, externally drained
ET=Internally pilot, internally drained
T=Externally pilot, internally drained

Bt m i3t B
For further details

T = THEBER
V= @B

No code =NBR seals
V=FPM seals

FARIE = AEHUER

P4.5= EWER; FEESH 0.45MPa
No code=Without preload valve
P4.5=With preload valve

cracking pressure is 0.45MPa

ZHRIE = AN e
(BEREE P OF5R )

B0.8= TififL#£ 0.8 B10= HiifL#E 1.0
B12= Fiif7l2 1.2 B156= FikdA#R 1.5
No coad if without plug-in throttleer
B0.8=Throttle orifice size 0.8

B10=Throttle orifice size 1.0

B12=Throttle orifice size 1.2

B15=Throttle orifice size 1.5

Z5L= kT KR etk

ER= fEE =Mk

Z5L= Large quadrate plug with light
ER=Deutsch Connector

X =®kB\PHR

S=FiETR, #OFHKS2= FATHE, HOWR
No code=Without pilot adjustment

S=With meter-in pilot adjustment

S2=With meter-out pilot adjustment

www.nshpv.com




